UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

TSV007

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 25.06.2015 DESCRIPTION:
APPVD Jumping track
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:30 SHEET 1 OF 6




safety area

4196

D=D
N N
o~ O~
™ ™
N} foN
D=D
1500
Y
Y
DIVENSIONS ARE N MILLIVETERS PARTNUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM TS VOO7
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 25.06.2015 DESCRIPTION:
APPVD Jumping track
Tiptiptap OU
f_',?& T' t' t ou Veetorni 9, MATERIAL: .
TA€>P Ip Ip ap Juri alevik, Rae vald, wood, metal, plastic A4
7530] HOI’JUFT]CICI WEIGHT: | SCALE: 1:60 SHEET 2 OF 6




1 2 3
- 4196 _
1
D
I O———0
(o0}
o~
o
N
D
O———0
(o0} N
(O [0
o ™
N o~
D
O———0
(e0)
(O
o
N
|| )
O——
||
1098 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE N KLOGRAMM TSVO07
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 25.06.2015 DESCRIPTION:
APPVD Jumping track
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:60 SHEET 3 OF 6




2 3 4 5
T = J 1 o — .
S8 Q|13 IR S8 8¢§ 3
Sel BRI | A K (1| ) B | ) oy § Y1 H BT
- 2000 L 2000 L 2000 _ 1196
- 6392 — ground
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM TSVOO7
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 25.06.2015 DESCRIPTION:
APPVD Jumping track
Tiptiptap OU
f.P, T- t- t ou Veetorni 9, MATERIAL: .
TX;’P |p |p ap JUri alevik, Rae vald, wood, metal, plastic A4
] ) 75301 Harjumaa

WEIGHT: | SCALE: 1:40

SHEET 4 OF 6



o |(@
and
DETAIL A
SCALE1:10
ITEM PART NUMBER DESCRIPTION QrY
NO. '
1 |post 98x98x400 laminated wood 4
2 |post 28x98x500 laminated wood 2
3 |post 98x98x600 laminated wood 2
4  |beam 32x1000 painted steel 4
S5 |nut cover M10 PE plastic 40
6 |bolt DIN931 M10x120 galvanized steel 8
7 |nut cover cap M10 PE pastic 40
DIMENSIONS ARE N MILLIMETERS PARTNUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM TS VOO7
pe - | Jumping track
‘5 Tip’ripTTop (gU
" = = J \% i9, MATERIAL:
L Tiptiptap® jui cievik rae vaid, wood, metal, plastic A4

AP

75301 Harjumaa

WEIGHT: | SCALE: 1:40

SHEET5OF 6




A
B
C
3\(§
o 65 4

N

N\

9 -\ /-

3 4
[——=]]
3 o ground
Y ©
A8
1 - !
(@)
(@]
N
1 .
|
i o
1 (@)
O
i
|
|
|
|
i
!
' Y

ITEM
NO.

PART NUMBER

1 |post 98x98

ground fixture

bolf DIN603 M10x120

nut cover M10

nut DIN985 M10

nut cover cap M10

plastic cap 115x115

O NN WIN

woodscrew 6 x 90

UNLESS OTHERWISE SPECIFIED:

WEIGHT ARE IN KILOGRAMM

DIMENSIONS ARE IN MILLIMETERS

© TSVO007

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 25.06.2015 DESCRIPTION:
APPVD Jumping track
Tiptiptap OU connecting ground fixture to post
Veetorni 9, MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:10 SHEET6 OF 6




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet5
	Drawing View7
	Detail View A (1 : 10)

	Sheet6
	Drawing View9
	Drawing View10


